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Section A (30 x 2 marks)

For each question, choose the most suitable answer and shade
corresponding oval (1, 2, 3 or 4) on the optical answer sheet,

1. Study the classification chart below.

How afe theé animals above classified?

{1) The way they move.
{2) Their cuter covering.
{3) How they reproduce.

{4) The number of legs they have.

Living Things
Snake Parrot Bat
Guppy Osirich Elephant
Clownfish Eagle Platypus

ifs



Study the flow chart below.

Living
thing

h'd

Does it make
its own food?

Yes ,

A 4

No

A

Does it have Yes .

flowers?

No

Based on the flow chart, what can A and B represent?

Papaya
tree

A B
[1] Rose Yeast
(2) __Mushroom Bird’s Nest Fern
(3) Bird's Nest Fern Mushroom
(4) Yeast Rose




3. Mr. Tan carried out an experiment fo find out how well a material could
absorb water. He used 4 different materials labelled P, Q, R and $, which
were of the same length and thickness.

T retort stand

coloured
water

container
Which material is most suitable for making a raincoai?
(e
{2} Q

(3) R
(4) 3

4. A padlock is made of metal because metal is

padiock

{1) strong

(2) heavy

(3] flexible

{4) waterproof



5. Diana had 4 paperclips labelled A, B, C and D which were made of
different metals. She found that only paper clip D could not be atiracted
to a magnet. What metal could paper clip D be made of?

{1) ron

(2} Steel

(3} Cobalt
(4) Copper

4. Chondra was given 3 objects labelled X, Y and Z, which were wrapped
with black paper. He was fold that the objects were a magnet, a
magnetic object and a non-magnetic object.

He hung the objects on a bar using strings and placed them in different

positions.
st position 2nd position 3rd position
Xty | 1I X1z X Y

Based on the observdtion above, which is ¢ possible conclusion?

Magnet Magnetic object Non-magnetic object
{1} X Y - Z
{2) X Z Y
8) Z Y X
(4) Y Z X




7. The diagram below shows 3 bar magnets thal are attracted to one

another. The poles of each magnet are represenfed by A, B, C. D, E and
F.

Which of the following diagrams shows a possible arrangement of the

magneis?
(1) {2)

C D A B | E

A B

E F

D C | F
(3} (4)
F B E




8. Study the diagram of a plant below.

What is/are the function(s} of plant part X?

A: To hold the plant upright
B: To anchor the plant to the ground
C: To transport food and water to all parts of the plant

1} A only
2) B only
3} Aand B only

{
{
(
{4) A and C only



9. Ahmad wanis to find out whether the presence of light will affect ihe
growih of a plant. He has 4 set-ups as shown below.

Set-up A Set-up B

Well-it room
Plant is watered daily

Dark room
Plant is watered daily

Set-up C Set-upD

Well-lit room
Plant is walered daily

Dark room
Plant is watered daily

Which two set-ups should Ahmad choose to conduct his experimeni?

{1) Set-up A and Set-up B
(2) Set-up B and Setup C
(3) Set-up B and Set-up D
{4} Set-up A and Set-up D



10. The bar graph below shows the amount of food digested at different
parts, E, F, G and H of the human digestive system. wWhich part of the
human digesfive system most likely represents the mouth?

Amount of food digested

F s

I T i - Parts

(1 E
(2)F
(3} G
(4} H

11. Why are we slill able o see objects outside the window éven though the
glass windaow is closed?

1. Giass window

(1} The glass reflecis light.

(2] The glass aliows light to pass through.

{3] The light fromour eyes is reflected by the objecis.
{4) The light from the objects are reflected by our eyes.



12. The diagram below shows the path of light that enabled Alexander to
see the ball while playing soccer at the field.

Q

R
P
what could P, Q@ and R be?
P Q R

(1) Badl Sun Alexander
(2) Alexander Baill Sun
{3) Sun Alexander Ball
{4) Alexander Sun Ball

13. Which one of the following is not a source of light?

(1) Sun
{2} Stars
{3) Firefly
(4} Moon




14. Wei Ming can hear a dog barking in his neighbour's garden. He wanis to
look at the dog but is blocked by a wall. He made a device to help him
see the dog. A, B. C, D, E and F are mirrors.

wall

Which mirrors will enable him to see the dog?

(1} A, D and F only
{2} B. D and E only
[3) A. B, D and E only
{(4)A, B, C.DandE

15. Sam placed both his hands into two conlainers of water at the same
time. His ight hand that was placed info confainer A fell warm. His left
hahd that was placed into container B felt cold. Whal were the
temperaiures of the water in the containers?

Temperature of the water in Temperaiure of the water in
container A {"C) container B.{"C)
(1) 25 15
{2) o 45 40
{3) 15 40
{4} 40 15




16. Mrs Tay is going to build a display window for her shop. She wantis her
customers to be able to see clearly into her shop. The graph below
shows the amount of light that can pass through each type of glass, A, B,
C and D.

Amount of light that
can pass through {lux)
A

+Type of glass
A B C 5]

Which type of glass should Mis Tay choose o build her window?

(1A
(2)B
(3] C
{4) D

1



17. Anita had three different materials, namely frosted glass, clear plastic
and cardboard, of the same thickness. She shone a torch at each of the
three materials and used a light sensor connected to a dalalogger to
record the amount of light that passed through each material. She
recorded her readings on a graph. Which one of the following graphs is
the one recorded by Anita?

{1 Amount of light that

can pass through [(lux)
A

Clear plastic

Frosted glass

Ca@boord
0 Time
(2] Amount of light that
can pass through {lux)
-
Cardboard

Frosted glass

Clear plastic

Time
(3} i
Amount of light that
can pass through {lux)
i Clear plastic
Frosted glass
M Cardboard
0 Time
(4}

Amouni-of light that

can pass through [lux}
A

Cardboard

: Frosted glass

______;____,__/ Clear plastic
G Time
12




18. Annabel has a plate made from frosted plastic and ceramic as shown
below.

frosted plastic

ceramic

what is the possible shadow that will be formed when Annabel shines a
torch at the plate?

1)

13



19. Two pieces of cardboard were placed in front of alight source as shown

below.
-
e
liﬂ]_{ﬁ_,- Sc¢reen
"—-—_‘__ .
~.
N
Torch Cardboard
pieces 2

The shadow formed on the screen is shown below.

One of the pieces of cardboard is a round shape. What could be the
shape of the other piece of cardboard?

()

(3}

(4)

14



20. Huimin drew the shadow of a pole in a field af 1 p.m. Which shadow did
she draw af 1 p.m.?

(2)

o 4 R

21. Sharifah placed a metal spoon into a cup of cold water as shown
below.

Metal spoon

Cup

Cold water

Which one of the following stafements is frue?

(1) The cup lost heat to the cold waler.

{2} The cold water lost heat to the cup.

(3} The spoon gained coldness from the cup.

{4) The spoon gained coldness from the cold water.

15



22.

23.

A metal ball was abie to pass through a ring before it was heated. After
heating the ball over a fiame for 10 minutes, the ball could not pass
through the ring.

why was the ball unable to pass through the ring after it was heated?

{1} The ball had expanded.
(2) The ring had expanded.
(3) The ball had contracted.
{4) The ring had contracied.

The diagram betow shows a pot that is used for cooking.

whatt would be the most suitable material fo make part X7

(1} ron

{2) Glass

(3} Plastic

{4} Styrofoam

i6



24. A bedaker of water at room temperature was heated for 1 minute and
then left to cool. Which of the following graphs below shows the change
in the temperature of the water as it was heated and then left to cool?

(1)
Temperaiure (° C)

-9

* Jime
(2)
Temperature {° C)
A
» Time
{3]
Temperature (° C}
F 3
> Time
(4)

Temperature {° C}
A

» Time




25. Raj had two cups of water as shown below.

\ /

Cup A Cup B
200mi 200mi
20 oC 80 oC

He poured half the amount of water in cup A and all of the waterin cup
B info a large container. He then measured the volume and
temperature of the water in the large container immediately.

= Large conlainer

What could be the readings that Raj obiained?

Volume (mi) Temperature {°C)
(1} 400 30
(2) 400 50
{3) 300 25
{4) 300 65

i8



26. Four different metal rods labelled P, Q, R and S were hedted. The
diagrams below show how the metal rods expanded when they were
heated.

—F ———

Which of the following show the expansion of the metal rods P, Q, R and
§5?

Expands least » Expands most
(4 R Q P S
{2 Q R S P
(3) S P Q R
R P Q S

(4)

1%



27. Shawn wants to measure the temperature of water in a beaker. How
shouid the thermometer be placed to give the most accurate reading?

bulb

(1} {2}

(3 {4

74




28. Sifi has 4 set-ups as shown below.

Set-up A Sei-up B
balloon balloon

glass botiie

hot water

metal botile ceramic botlle

hot water hot water

Frormn which sef-up will the balloon inflate first?

{1) Set-up A
{2} Set-up B
{3) Set-up C
{4) Set-up D

21




29. The diagram below shows 3 beakers, A, B dnd C, containing the same

amount of water. The temperafures of the water in the beakers are

shown below. The ends of a metal chain and a plastic chain are dipped
info the water.

mefal chain

water ——-—
30eC 80<C 60°C
Bedker A Beaker B Beaker C

Which of the following most likely shows the femperatures of the water in
the three beakers, A, B and C, after 5 minutes?

Temperature of
water in beaker A

Temperature of
water in becker B

Temperaiure of
water in beaker C

(=C) Q) {<C)
(1 40 70 70
{2 50 40 &0
{3} 30 &0 65
(4) 45 60

55

22




30. Celine conducted an experiment to find out how cups made of
different materials affect the temperature of water in the cups. She
heated the water in a cup made of material W for 20 minutes. She
repeated the experiment using cups made of materials X, Y and Z, and
recorded the change in the temperature of the water on a graph as
shown below.

Temperature (°Cj

A

» Time

Which material is most suitable for making the handie of a frying pan?

End of Bookiet A
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Section B (40 marks)

Write your answers in the spaces provided.

31. Study Animal X and Animal Y beélow.

Animal X Animal ¥

a} State one similarity between Animal X and Animai Y. (Do noi

mention their colour and size.} {im)

b) State one difference between Animal X and Animal Y. (D6 not

mention their colour and size.} : (1my}




32. dohn conducted an experdment using the fwo set-ups below.

coniainer

layer of oil

1

LML L L
||l'lllll

shiail

a) What was the aim of his experiment? (1m]

" b} After 30 minutes, John took a phofograph of the set-ups as shown
Delow.

HES

t

]

t

____________________ fors

Sef-up X Set-up Y

what characteristic of fiving things was shown by fhe snails?  {Imj)




33. Study the flowchart below. A, 8, C and D represent 4 different materials.

Yes

a} Describe the material, B.

Materials
‘ Y k
. es Does it sin
Is it strong?
9 in waier?
No
No v
B
Y
Isit Yes
opague? c
No
v
D

k'

fim]

b} State a similarity between the materials, C and D.

(im)

c} Whatis the matenal, A?

(1m}




34. The diagram below shows the paris, A, B, C and D. of the human

digestive system.

A
B
C
D
E
a} Identify the paris, B and E. : {im}
B:
E:

b) State the part (A, B, C.Dor £} at which digestion of food ends. {1 m}




35. A, B, C. D and E represent processes that take place in the digestive

system.

A: Excess water is removed from the undigested food.

8: Partfially digested food is passed through a long tube.

C: Food is ground into smaller pieces and mixed with sativa.
D: Digested food is absorbed into the bloodsiream.

E: Food is mixed with digestive juices in a muscular argan.

Arrange the processes, A, B, C, D and E, in the correct order in the

boxes below. {2m})
Food Wasie is
enters |, I . — — ¥ passed
the out
mouth




36. Guo Hao conducted dn experiment. He prepared Set-up X and Sef-up Y

as shown below.

Set-up X Set-up Y

/lcyer of oif

100ml of s s 100ml of
T water '“3 e water
—— pot i—— pot

a) Idenfify the changed variable.  {Im)}

b} After 3 hours, Guo Hao measured the volume of water left in both

pois and recorded it in the table below.

Set-up Volume of water left in the pot {(ml})
X 80
Y 100

What was the aim of his experimeni? {Im])




37. Muthu placed 3 different magnets, F, G and H, one af a time at a retfort
stand. ‘d’ is the maximum distance the steel clip could remain

suspended in the air from the magnet. He recorded his findings in the

fable below.

retort stand

—— steel clip

Magnet | Maximum distance between the magnet and the steel clip,
d (cr)
F 3
G ' 2
H 4

Muthu then placed the magnets 1 cm from some steel clips and

recorded the number of clips that were atiracted fo each magnet in
the table below. '

a} Complete the table by wiiting F, G and H in the boxes provided.  {1m]

Magnet _ Number of steel clips atfracted
8

5




magnet

paper

retort stfand

steel clip

b) What would Muthu observe if a sheet of paper was placed befween the

magnet and the steel clip? Explain your answer. {2m)

© ¢) What would Muthu observe if the steel clip was replaced with dn

aluminium clip? (im]}




38. Steven looked through a periscope and was able to see the object
clearly.

/ . object

periscope

aeye

a) In the periscope above, draw two mirrors and the path of light that
enabled Steven {o see the object. {2m})

b)
bent fube -

ﬂ "—‘ object

Can Steven see the object if he uses the fube above? Explain your
answer. {2m}

eye




39. The experiment below is canied out in a dark room.

hole

o

torch

N

T

Card A

\

e

Card B

s

B

.

Cad C

T

Card D

- Card A, Card B, Card C and Card D are arranged in a siraight line.
When the forch is switched on, a bright star is seen on Card C only.

Study the statements below. Put a fick {¥] in the appropriate box. {2m)

Statement

True

Not

False | possible '

o tell -

{a)

Card A allows light to pass through.

{b)

Card B allows light fo pass through.

{c}

Card C does not allow light to pass
through.

(d)

Card D does not allow light fo pass
through. A

34




AQ. In a dark room, lighf was shone at an ice cream cone from the positions,

W and X, as shown below.

—
|

— Screen A

Screen B lce cream cone
n — ground

- | /

(a}Draw the shadows cast on Screen A and Screen B in the boxes
below. {2m])

Shadow on screen A . Shadow on screen B

b) The torch was moved down from position X. The length of the
shadow that was cast on screen B was measured and recorded in
the table below.

Distance of forch from cone {cm) | Length of the shadow {cin)
35 5
30 10
25 20

What is the relationship between the distance of the torch from the
ice cream cone and the length of the shadow? {1mj}

i1




what is the length of the shadow when the distance of the torch

cl
from the ice ¢ream cone is 32 cm? (1m]




41. Study the set-up below.

drop of ink
glass tube l;
\(r— R
rubber siopper

J} air \ “

Flask P Flask G

{a)What should be done to flask Q to move the drop of ink towards flask

P? Explain your answer. (2m])

{b) Mark an X on the glass tube below to show the position of the drop of
ink when flask P is placed in cold water. - {Im}

original posifion of ink

LI

LW
A j/ )

air

alass tube

f air




42. Jean has three rods. A, B and C, which are made of different metals of
equal thickness but different lengths. She aitaches a ball of wax io one

end of each rod and heated the other end over a flame.

metal rod

candie flame
ball of wax

She recorded the time taken for the ball of wax to diop off the rod.

Rod Length of the rod {cm) Time taken for the wax
fo drop (s)
A 30 60
20 45
C 50 120

Sumitha commented that the experiment was not a fair test.

a) What should Jean do so that the experiment will be ¢ faif test? (1m)

14



Jean conducted the experiment again after ensuring that the
experiment was a fair test. Shé recorded her new findings in the table
below.

Rod Time taken for the wax to drop (s)
A 60
65
C - 80

b} Which rod is the hest conductor of heai? Explain your answer. (2m)

c) Without adding or removing items from the sef-ups, what should
Jedn do so that the wax balls on the rod will take @ shorter time to

drop? (irn)

d) If the length of the rods were incifeased, would the fime oken for the

balks of wax to grop increase or decrease? £Xplain why. (1m)}




43. The diagram below shows a thermometer.

a) What is the reading on the thermometer? {(1m)

b} What would happen to the liquid level in the thermometer when the

thermometer is placed in & cup of hot fea? Explain your answer. {2m)




44} Jimmy placed an ice cube info a cup and heated the cup over a

flame. He recorded the time taken for the ice cube to melt completely.

He repeated the experiment using identical ice cubes and cups of

different thickness. Jimmy's resulls were recorded in the fable below.

Thickness of the cup (mm) | Time taken for the ice cube to melt (s)
3 | 40
5 60
7 90
10 120

a)What is the relationship between the thickness of the cup and the

time taken for the ice cube o meli? {1m}

b)What would be ihe time taken for the ice cube to melt when a cup

of 8 min thickness were to be used in the experimeni? {1m}

End of paper

17




Q39 (a) False
(b)Y True
(¢) True
(d) Not possible to tell

Q40 (a) Shadow on screon A Shdddw on icréén B

{b) As the distance of the torch from the ice cream cone decreases, the
tength of the shadow increases.
(c) 7cm

Q41 (a) Heatflask Q.
The air inside flask Q gains heat from the flame and expanded causing
the drop of ink moving towards flask P.

(b) glass fube

original posifion of ink

air

¢

[— cold water”

Flask Flask Q

Q42 (a) Make the fength of the rod the same.
(b) RodA o
The time taken for the wax on rod A to melt is the shortest, thus Rod A is
the best conductor of heat.
{c} Move the flame nearer to the wax balls.
{d) Increase.
Heat from the candle flame has to travet a longer distance.

Q43 (a) 17%
(b) It will increase.
The liquid gained heat from the hot tea and expanded.

Q44 (a) As the thickness of the cup incréases, the time taken for the ice cube to
melt increases.
(b} 115 seconds



Paper 2

Q1

Q2

Q3

Q4

Qs

Q6

Q7

Q8

Q9

Q10

(a)

(b)

(@

()

(@)

(b}

8+4=2
2x5=10
Rani has $10

10+2=12
They have $12 altogether.

36B+-3=12
Her son is 12 years old

48 + 4 = 52
Their total age will be 52 years.

78 x 6 = 468
They had 468 stamps altogether.

180+ 12 =15
15 x 10 =150
She has 150 blue beads.

15x3 =45
She should buy 45 more red beads.

13-1=12
12x3 =36
The distance from the first tree to the last tree is 36m.

160 - 10 =16
16 x4 =64
One shirt and one tie is $64.

9x9 =81

81x2=162

162 - 147 =15

The area of the shaded part is 15cm>.

39 x4 =156

156 — 122 =34
4-2=2

34+2=17

There are 17 bicycles.

6x5 =30
She bought 30 tarts.

Huiling has 6 friends.
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LEVEL  : PRIMARY 4
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SUBJECT : ENGLISH

TERM : SAt

Q1 |4 Q6 4 Q11 | 4

Q2 |3 Q7 3 Q12 | 4

Q3 |4 Q8 3 Q13 [ 4

Q4 14 Qg 4 Q14 |3

Q5 |1 Q10 |2 Q16 | 4

Q16 despised

Q17 TRUE

Q18 FALSE

Q19 213

Q20 wise

Q21 ‘They refers to the moose’s antlers.

Q22 His legs saved him from the hunting dogs.

Q231C Q25 |A

Q24 | F Q26 |E

Q27 | believes Q29 | contribute

Q28 | buy Q30 |is

Q31 Ali, who was my classmate in primary $chioedl, is now a famous national sailor

Q32 John did not win the race even though he ran very fast.

Q33 Dueto her laziness, Michelle did not do well for the mid-year examination.

Q34 Jane"told her aunt that they had left the resort the previous day.

Q35 They wanted to have a better view of Queen Victoria's coronation procession.

Q36 It refers to the boy.

Q37 The writer ighored her and went near to the boy.

Q38 Old Sam, the supervisor at the match factory, got a belt out and whipped the
boy that morning.

Q39 {want a better life for myself and find other work.
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LEVEL PRIMARY 4
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Q112 Q7 |4 Q13 | 4 Q19 |3 Q25 4
Q212 Q8 |4 Q14| 2 Q20 | 4 Q26 11
Q31 Q9 |1 Q15| 4 Q21 |1 Q27 {2
Q411 Q10| 3 Q16 | 3 Q22 | 1 Q22813
Q514 Qi1 |2 Q17 | 1 Q2313 Q29 14
Q612 Q12| 4 Q18 | 4 Q24 | 2 Q30 {4
Q31 (a) Both have a body

{(b) Animal Y has legs while animal X does not have legs.
Q32 (a) Tofind out if living things need air to survive.

(b) Living things respond to changes.
Q33 (a) Bis a material, itis strong and it does not sink in water.

(b) Both are not strong

(c) Iron
Q34 (a) B: Gullet

E: Large intestine

(b) PartD
Q35 C-B-E~D-A
Q36 (a) The presence of roots

(b) To find out if the absence of roots affects the amount of water absorbed.
Q37 (@ HF.G

(b) The steel clip would remain suspended in the air from the magnet.

The magnetic force of the magnet can pass through the paper.

(c) The aluminium clip will drop.

Q38 (a)
pedscope — 0
gye

(b)

No. Light travels in a straight line but the tube is bent.







Q39

Q40

Q41

Q42

Q43

Q44

(b)
()
(a)

(b)

(a)
(b)

{©)
{d)

(a)
(b)

(b)

False
True
True
Not possible to teli

Shadow anscreen A Shadow on screen B

As the distance of the torch from the ice cream cone decreases, the
length of the shadow increases.
cm

Heat flask Q.
The air inside flask Q gains heat from the flame and expanded causing
the drop of ink moving towards flask P.

glass tube original position of ink

air .
3 ! air

— cold waler

Flask P Flask Q

Make the length of the rod the same.

Rod A.

The time taken for the wax on rod A to melt is the shortest, thus Rod A is
the best conductor of heat.

Move the flame nearer to the wax balls.

Increase.

Heat from the candle flame has to travel a longer distance.

17°c
It will increase.
The liquid gained heat from the hot tea and expanded.

As the thickness of the cup increases, the time taken for the ice cube to
melt increases.
115 seconds
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